
Starting T1 2023, Suntec will harmonize the hub and flange fixations on all small pumps* and AJ pumps by adding a 
groove as a standard. This groove is authorized in norm ISO225-1, and has below dimension. 

NEW HUB FOR PUMPS WITH FLANGE FIXATION

SALES INFORMATION N°117

SB117- EN - Ed1 - 20/10/2022

CURRENT HUB 54

Bitube

APPROUVÉ

 

GAR

-

H

357 11011 2468912

110 9 8 7 6 5 4 3 2

B

C

D

E

F

G

H

B

C

D

E

F

G

A

1112
1 / 1

Treatment :

© SUNTEC INDUSTRIES 2021

 

 ≈1502

Status

F - 21603 LONGVIC Cedex, FRANCE

Used on / OriginWeight (g)

[inch]

Date

1:1
Scale

General tolerances

Description :

Level

2018/03/14

NN°°

mm

Draftsman

Pompe ALV 95C - 9427 4P 07 

UL File           UL          TÜV ISO 23553-1          TÜV PED           VDE

Page

 DVHA2
Material :

Original size

A

1 - rue Lavoisier, B.P. 102
SUNTEC INDUSTRIES FRANCE

SUNTEC INDUSTRIES, INCORPORATED
Subsidiary of SUNTEC INDUSTRIES FRANCE

 

or disclose , in whole or  in part, any such information without written authorization from SUNTEC INDUSTRIES  FRANCE.

A 2022/01/10

DDaatteeVVeerriiff..NNaammee

 

JR

 

LLeevv

Glasgow, Kentucky 42 141, USA

 

60 Aberdeen Drive

DVH
D7190

 

DDrraawwiinngg  ssttaattuuss  aanndd  mmooddiiffiiccaattiioonn

 

 

 

 

 

 

Création pompe moyeu avec gorge Ce document contient des informations confidentielles dont SUNTEC INDUSTRIES  FRANCE est propriétaire. Ni la réception, ni la possession de ces informations ne 
confèrent le droit de reproduire, d’utiliser ou de révéler en tout ou en  partie une information de ce genre sans l’autorisation écrite de SUNTEC INDUSTRIES FRANCE.

This document contains confidential information which are SUNTEC INDUSTRIES  FRANCE property. Neither receipt, nor possession thereof confers any right to reproduce, or use 

D:
\S

UN
TE

C\
ET

UD
ES

\F
ue

l\
20

22
 - 

71
89

 - 
7X

XX
\

2726

10

6

10

15

22

23

2425

21

1

19

20

12 3

4

17

18

11

13

!
BOM indicative : ERP référence valide

N° REF DESCRIPTION Qté
1 37 21 921 Corps LCR 1054 1 1

2 37 79 071 Bouchon by-pass 1

3 37 17 074 Engrenage A90 - 12.70 LH_K 1

4 37 52 002 Vis Engrenage M5×30 3

5 37 73 071 Joint Alu Ø14.3×Ø17.45×0.8 1

6 37 13 842 Chemise AL Viton Assy 1

7 37 23 817 Ressort A90 - 04 - 18 bars 1

8 37 23 814 Siège ressort A90 1

9 37 23 776 Piston AL 1

10 37 79 835 Bouchon acier G1/8 2

11 37 74 221 Circlips 1

12 3774225NO Rondelles à trous : NOIRE 1

13 37 54 183 Joint NOK Viton 1

14 37 13 845 Tube AL Viton assy 1

15 37 54 109 Plaque solénoide 1

16 37 73 605 Vis FZ M4 2

17 37 79 881 Joint de couvercle 1

18 37 15 750 Filtre couvercle Alu Haut CN 1

19 37 29 930 Couvercle haut LH - Assy 1

20 37 79 001 Vis de couvercle M5x25 4

21 37 29 744 Bouchon plastique G1/4 2

22 37 73 569 Bouchon plastique G1/8 1

23 37 13 871 Bobine 07 - 220/240V_T80 1

24 37 53 906 Rondelle élastique 1

25 37 53 907 Écrou H M6 1

26 ETI3759873 Code tampo : BG 1

27 TUV AL/AT CODE 2 : "DIN 5S187" 1

16

2

9
5

78

14

Bitube

APPROUVÉ

© SUNTEC INDUSTRIES 2021

-

H

357 11011 2468912

110 9 8 7 6 5 4 3 2

B

C

D

E

F

G

H

B

C

D

E

F

G

A

1112

UL File           UL          TÜV ISO 23553-1          TÜV PED           VDE

EC 2522 : Couvercle 3729930F devient 3729930 5HA Assy) / EC 2606 : Intégration logo 2018.

 

2018/03/14

 ≈1510

Status

F - 21603 LONGVIC Cedex, FRANCE

Used on / OriginWeight (g)

GAR
Date

1:1
Scale

General tolerances

[inch]

Level

mm

NN°°

Description :

C

Draftsman

DVH

Treatment :

1 / 1
Page

A2 Pompe ALV 95C 
Original size

C1

1 - rue Lavoisier, B.P. 102
SUNTEC INDUSTRIES FRANCE

SUNTEC INDUSTRIES, INCORPORATED
Subsidiary of SUNTEC INDUSTRIES FRANCE

Material :

9427 4P 07
C1 2021/10/21

DDaatteeVVeerriiff..NNaammee

DVH

  

DVH

DVH

2020/09/16DVH

2018/03/14

Glasgow, Kentucky 42 141, USA

B

LLeevv or disclose , in whole or  in part, any such information without written authorization from SUNTEC INDUSTRIES  FRANCE.

60 Aberdeen Drive

AD

  

DVH

EC 2522 : COuvercle 3729930F devient 3729930 (HA Assy)

Mise à jour composants natifs SW : Bobine, Vis EV, écrou tube, bouchons, couvercle

DDrraawwiinngg  ssttaattuuss  aanndd  mmooddiiffiiccaattiioonn

Ce document contient des informations confidentielles dont SUNTEC INDUSTRIES  FRANCE est propriétaire. Ni la réception, ni la possession de ces informations ne 
confèrent le droit de reproduire, d’utiliser ou de révéler en tout ou en  partie une information de ce genre sans l’autorisation écrite de SUNTEC INDUSTRIES FRANCE.

This document contains confidential information which are SUNTEC INDUSTRIES  FRANCE property. Neither receipt, nor possession thereof confers any right to reproduce, or use 

D:
\S

UN
TE

C\
PR

OD
UI

TS
 F

IO
UL

\P
om

pe
s 

As
sy

\0
1 

- A
70

\

N° REF DESCRIPTION Qté
1 37 21 921 Corps LCR 1054 1 1

2 37 79 071 Bouchon by-pass 1

3 37 17 074 Engrenage A90 - 12.70 LH_K 1

4 37 52 002 Vis Engrenage M5×30 3

5 37 73 071 Joint Alu Ø14.3×Ø17.45×0.8 1

6 37 13 842 Chemise AL Viton Assy 1

7 37 23 817 Ressort A90 - 04 - 18 bars 1

8 37 23 814 Siège ressort A90 1

9 37 23 776 Piston AL 1

10 37 79 835 Bouchon acier G1/8 2

11 37 74 221 Circlips 1

12 3774225NO Rondelles à trous : NOIRE 1

13 37 54 183 Joint NOK Viton 1

14 37 13 845 Tube AL Viton assy 1

15 37 54 109 Plaque solénoide 1

16 37 73 605 Vis FZ M4 2

17 37 79 881 Joint de couvercle 1

18 37 15 750 Filtre couvercle Alu Haut CN 1

19 37 29 930 Couvercle haut LH - Assy 1

20 37 79 001 Vis de couvercle M5x25 4

21 37 29 744 Bouchon plastique G1/4 2

22 37 73 569 Bouchon plastique G1/8 1

23 37 13 871 Bobine 07 - 220/240V_T80 1

24 37 53 906 Rondelle élastique 1

25 37 53 907 Écrou H M6 1

26 ETI3759873 Code tampo : BG 1

27 TUV AL/AT CODE 2 : "DIN 5S187" 1

8

2

9
5

7

14

19

20

10

6

10

15

22

24

23

25

21

1

2726

!
BOM indicative : ERP référence valide

16

18

11

12 3

17

4

13

NEW HUB 54
 WITH GROOVE

*All low capacity pumps : AE - AN - AL - AS -  AP - A2L - AT - and D ranges. 

R1,75 ± 0,25 
[0,069 ± 0,010]

R0,3 max. 
[0,012 max.]

20°± 5°

9,5 ± 0,2 
[0,374 ± 0,008]

15°± 5°

2,5 0

[0,098 0       ]

+0,5

+0,020


